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B2, B 1 FIBT A 8 ¥l Fig g, i A B5 iR . B IE#i. t(=01F Z|
WAAER RS 1 RS 1 SRR B AR 3h, B P R S 9 1R h
Fria R 1~9 5 A — k H B A B 2 TR B B Dk
B3 T 1.5T, 1 At=1.5T=0.3 s, 3 T=0.2 s, W] Jii &5 5 i8
S — AT T, B KO8 A=0. 8 m, U i v=
A 0.8

T*ﬁ m’sf4 m/s,ﬁﬁl(/ DI[:Efﬁ

B

JBEJE 5% T LA
=1 -Eh%ﬂ =L.34L=L.18 X =24, v=2f.18 v, =
2, , Eﬁﬁ

A [mffﬁ] Yﬁ‘{uxﬁﬂlEﬁfﬂ{%%JfE%iﬂi%l@ﬂ%ﬂ,(n+%)T:

0.20 s, it n=0.,1.2, . I FIZP Y T>0.20 s.frlh n B
BB F 0,0 T=0.40 s, iR 45 P B AT, P K A=16 cm =

0.16 m, fit L I v:%*o 40 m/s Bt A IFEH#f,B iR =
0. 08 m 4b Ay J5t s £ ¢ =0 B 7 T4 67 & 1] L¥R3h, T 0. 70 s=
(14 ) ToBFRL =07 s B =0, 08 m 4 I A2 i 28+

C%‘*L%;EE?LT<0 12 s<iT FFLht=0.12 s Bf x=0.08 m
AbHY ﬁu?ﬂikuizLTﬁﬁ%ﬁmﬁﬁ&hﬁ i D g

. AC [RRAT] i Z . B i P{ny%ﬁ‘ﬁml_lj] *ETE%I

SRS T HI WL BV o B T AL % L R S Q W v Sl 1Al
EE LA T=0.2 s. 254 1=0. 35 s:(wi)T % P oF ik

Wi, BT i Q BIE VAT A0 8 R O (H R BIABA L BLR Q@J%@Iu
BB N T B A P OB F 6L R B R A IE B

1=0.25 s= (14— ) T P EIWA R Q ik %@uﬁ
A BI Y TR Q M T A P9 M0 1B

75)



11.

12.

13.

15.

BV P« BIE 7 10 £ 4 WK A= 4 m DY o= A =
20 m/s,Z330.15 s, WALIEIE B x=wv=3 m, i C IEW. &3 1=

Qm:%ﬂﬁ Q H3E BN 7 WS v 97 18] L B D Gt

. CD [##] AR 4 mo i 2R AW 4 s, Bl

=1 m/s, A R A BURUIT UG R 3 59 77 ) 3 15 94 I B9
R 77 160 AR 5] Ay 723 B 2] ML S I D5 1) A A0 e DR AR O 1)
fh

v RT3 1) L M T LR B9 4 R T 6 ik 3 R O Al
G50 BB s e =4 m bR B A AR B B Q N BT Q 4

Rk W@ﬁ%ﬁ@m;—fi —6 s, 8 C T 53 51 %

1

v=

~a|»

= 2 5

=5 s:%T x

L B R s = X 1A=50 cm, i D E#.

MM e R ) Q)ﬁﬂ’ﬁﬂﬂ‘llﬂt:T Bl fa) 4 M

. AD [fg#r] ik 3h K8 BuR ik 3 B T= 4s,fz—0 i

Fsa RALT W AT b 20 VM 00 B e IR 3, 4 /n R

4,
= 2 —= | 1= __8
Zu (n+ 1 >/1(n 0,1,2,+), 0 A Int3 int3

fm,AJJ:IE)% B n=0,l 0<<a<<
imB‘f&ﬁ-U)’ZEv:L:—
3 TR T 4n+3
n>o,ﬁio<v<,1m’s,cfr*ttf<,

3
1.
AB  [RBRAT] W R T I 48 1 A AL 1% . 2 o SR LS K B IE
] e KA b R R RLRS M A K, B R g 2. W a b EHE’JEE%

v, =14.0 m:<n+i)/\(n:O 1.2, , A/ 5K A= n +3
(n=0,1,2,+); 233 1.0 s,a HHN B NE, HH FE80. 00 b &4
B RS E) 1 A U ) 0= 1.0 5= (b ) TCk=

m(n=0,

2,0, M =0 W, A=

0,1,2,), "N

m/s(n=

Z m/s, D

Moa=10,v= 7

m

0.1.2,) A3 AW T=

_4
4k+1
;—‘:% m s(n=0,1,2,

05\},71:*4 m/s;Y4 k=1,n=0 i} ,v=— m/%,H—[T‘n k2R

Bloo NATHES T 7 m's fl 14 m/s. L A, BIEEE C.D R,
C [fB#] KAy #AE 1300~1600 m’s Z i, EéLIﬁz%% H5k

958 2 B S 2. 1 U B U 5

s(k=0,1,2,), Uy 5

sR=0,1,2,), 4 k=0,n=

1600

1.3x10° s=1.6X10"" WifE 5 &R

1300 s Z I i E

%%ﬂﬂﬁ%ﬁv%E%TZ%:5xm*&MEZ¢%%E

%thﬂﬁ’]ﬁﬂﬁ]lmrzm— 5 T= 5X1077 s, T AL L BHE B P %t

N T B R A ”'J@XJFTE’JEHETU(Z/UEJ 4X 10" s, @ XF N Ry B[]
KK 9X10 " s, @XF W BT RI KLY R 1.4 X107 s, @ XF B (1)
BRI 299 1.9 X 1077 s, i C I .

AC [8#w] mEMRM. K Ay =24 cm. A, =12 em, X t=

T, N

SR T Ty Ty =2k 1= 1,2, st e 0= -
v, top=1%k, B bk=1M,v, 2 vp=1:1;Y k=3 i,
vy tup=1¢ 3?3‘7]??‘7%%&»'%\ P up Kﬁfﬁ‘é%'ﬂiiﬂ 1 RT]

RB4E T3 2, ALCIER.B.D 45i%.

(D2 m/s FEF WBAHHE (2120 cm (3)2.5 cm
[FRAR] (D=0 W& P 3z s i U v il 507 10, B DA G %
W Bl 5 GG A t=0. 35 s BV, TS P A ITES 2 k3

VBN Dy Rk Gl A (1) T=0.35 5

fitig T=0.2 s

i ER R AL I B A=0.4 m

W k7 T:% m/s=2 m/s.

DO t=0F t=1.2 s, 154 T 6 N, THRIE A=5 cm,

FRLLR S QB RN L =6X4A=24X5 cm=120 cm.

(OE 1=1s=5T, G r=1 s, Fi i Q &t 5 AW E B

Il 58 JA S U A X S 7 B LR s=2.5 cm.

(1)25/52{:4 x BEJT AL RS, I N (16n+4)m/s(n=0,1,
o)UY 2 Bl T AR L BE R (16n+12)m/s(n=0,1,

1.

ul

. B O[] B

EmIFUF
2,0 (D flIEJ M
CARARD (125000 80T J7 4 4845 3 40 30 T 50
7E A B P A6 4 69 B Ar— (ot )a= (nt—F ) X8 m—

Bn+2) m(n=0,1,2,+),

0,142+
AW o Rl 5 16 A R AR Y R U TR TR A I ) A

D] 3 5 v:%:(16n+4)m s(n=

BB I B Ax= (H+%>A: <n+%> X8 m= (8n+6)m
(n=0,1,2, ), W ¥ 3 v:%:(16n+12)m/s(n10,1,
2,000).

(AP Sy 68 m/s, MPTE Ar=0.5 s WILRRIIEE Av=oAr=
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B2 A G B S BIALRE /N3 A R SA L D IE .

. BD [FE#T] Ml A, A miab TR M 5 i« B8 XN

B A A R IR B U A O OB TE TR A B R
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